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第４回講義 資料１ 

 （資料４―①）  

 

 （Q4‐5―８） (1,1)を算出で分解した１９通りを加法によって確認せよ。 

（算出１） (1, 1) ＝（２，１）＋（３，１） 

(算出２) (1, 1) ＝（２，１）＋（４，１）＋（１３，１） 

(算出３) (1, 1) ＝（２，１）＋（５，１）＋（８，１） 

（算出４） (1, 1) ＝（３，１）＋（３，１）＋（７，１） 

(算出５)  （１，１）＝（２，１）＋（４，１）＋（１４,１）＋（１８３，１） 

（算出６）  （１，１）＝（２，１）＋（４，１）＋（１５，１）＋（９８，１） 

（算出７）  （１，１）＝（２，１）＋（４，１）＋（１８，１）＋（４７，１） 

（算出８）  （１，１）＝（２，１）＋（４，１）＋（２３，１）＋（３０，１） 

（算出９）  （１，１）＝（２，１）＋（５，１）＋（９，１）＋（７３，１）  

（算出１０） （１，１）＝（２，１）＋（５，１）＋（１３，１）＋（２１，１） 

（算出１１） （１，１）＝（２，１）＋（6，１）＋（7，１）＋（68，１） 

（算出１２） （１，１）＝（２，１）＋（６，１）＋（８，１）＋（３１，１） 

（算出１３） （１，１）＝（２，１）＋（７，１）＋（８，１）＋（18，１）  

（算出１４） （１，１）＝（3，1）＋（3，1）＋（８，1）＋（５７，1） 

（算出１５） （１，１）＝（３，１）＋（３，１）＋（９，１）＋（３２，１） 

（算出１６） （１，１）＝（３，１）＋（３，１）＋（１２，１）＋（１７，１） 

（算出１７） （１，１）＝（３，１）＋（4，1）＋（５，1）＋（４７，1） 

（算出１８） （１，１）＝（3，1）＋（４，1）＋（７，1）＋（1３，1） 

       （算出１９） （１，１）＝（３，１）＋（５，１）＋（７，１）＋（８，１） 
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(a,b)O(c,d)x(acPbd,bcOad)より 

 

（算出１） (1, 1) ＝（２，１）＋（３，１） 

右辺＝（６－１，３＋２）＝（５，５） 

＝（１，１） 

(算出２) (1, 1) ＝（２，１）＋（４，１）＋（１３，１） 

右辺＝（８－１，４＋２）＝（６．６） 

＝（１，１） 

(算出３) (1, 1) ＝（２，１）＋（５，１）＋（８，１） 

右辺＝（１０―１，５＋２）＋（８，１）＝（９，７）＋（８，１） 

＝（７２－７，５６＋７）＝（６５，６５） 

＝（１，１） 

（算出４） (1, 1) ＝（３，１）＋（３，１）＋（７，１） 

          右辺＝（９―１，３＋３）＋（７，１）＝（８，６）＋（７，１） 

＝（５６―６，８＋４２）＝（５０，５０） 

＝（１，１）  

(算出５)  （１，１）＝（２，１）＋（４，１）＋（１４,１）＋（１８３，１） 

右辺＝（８―１，２＋４）＋（１４，１）＋（１８３，１） 

＝（７，６）＋（１４，１）＋（１８３，１） 

＝（９８―６，８４＋７）＋（１８３、１）＝（９２，９１）＋（１８３，１） 

＝（１６８３６―９１，１６６５３＋９２）＝（１６７４５，１６７４５） 

＝（１，１）  

（算出６）  （１，１）＝（２，１）＋（４，１）＋（１５，１）＋（９８，１） 

          右辺＝（８―１，４＋２）＋（１５，１）＋（９８，１） 

   ＝（７，６）＋（１５，１）＋（９８，１） 

             ＝（１０５―６，９０＋７）＋（９８，１）＝（９９，９７）＋（９８，１） 

             ＝（９７０２―９７，９９＋９５０６）＝（９６０５，９６０５） 

             ＝（１，１） 

（算出７）  （１，１）＝（２，１）＋（４，１）＋（１８，１）＋（４７，１） 

          右辺＝（８－１，４＋２）＋（１８，１）＋（４７、１） 

＝（７，６）＋（１８，１）＋（４７，１） 

             ＝（１２６―６，１０８＋７）＋(４７，１)＝（１２０，１１５）＋（４７，１） 

             ＝（５６４０―１１５，５４０５＋１２０）＝（５５２５，５５２５） 

               =（1，1) 
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（算出８）  （１，１）＝（２，１）＋（４，１）＋（２３，１）＋（３０，１） 

           右辺=(8―1，4+2)+(23，1)+(30，1) 

=(7,6)+(23，1)+(30，1) 

              ＝（１６１―６，１３８＋７）＋（３０，１）＝（１55，１４５）＋（30，１） 

             ＝（4650―14５，４３５０＋１５５）＝（４５０５,４５０５） 

             ＝（１，１） 

（算出９）  （１，１）＝（２，１）＋（５，１）＋（９，１）＋（７３，１）  

          右辺＝（１０―１，５＋２）＋（９，１）＋（７３，１） 

＝（９，７）＋（９，１）＋（７３，１） 

             ＝（８１―７，６３＋９）＋（７３，１）＝（７４，７２）＋（７３，１） 

             ＝（５４０２―７２，５２５６＋７４）＝（５３３０，５３３０） 

             ＝（１，１） 

（算出１０） （１，１）＝（２，１）＋（５，１）＋（１３，１）＋（２１，１） 

         右辺＝（１０―１，５＋２）＋（１３，１）＋（２１，１） 

            ＝（９，７）＋（１３，１）＋（２１，１） 

            ＝（１１７―７，９１＋９）＋（２１，１）＝（１１０，１００）＋（２１，１） 

            ＝（２３１０―１００，２１００＋１１０）＝（２２１０，２２１０） 

            ＝（１，１）  

（算出１１） （１，１）＝（２，１）＋（6，１）＋（7，１）＋（68，１） 

         右辺＝（１２―１，６＋２）＋（７，１）＋（６８，１） 

            ＝（１１，８）＋（７，１）＋（６８，１） 

            ＝（７７―８，５６＋１１）＋（６８，１）=（６９，６７）＋（６８，１） 

            ＝（４６９２―６７，４５５６＋６９）＝（４６２５，４６２５） 

            ＝（１，１） 

（算出１２） （１，１）＝（２，１）＋（６，１）＋（８，１）＋（３１，１） 

         右辺＝（１２―１，６＋２）＋（８，１）＋（３１，１） 

            ＝（１１，８）＋（８，１）＋（３１，１） 

            ＝（８８―８，６４＋１１）＋（３１，１）＝（８０，７５）＋（３１，１） 

            ＝（２４８０―７５，２３２５＋８０）＝（２４０５，２４０５） 

            ＝（１，１）     

（算出１３） （１，１）＝（２，１）＋（７，１）＋（８，１）＋（18，１）  

         右辺＝（１４―１，７＋２）＋（８，１）＋（１８，１） 

            ＝（１３，９）＋（８，１）＋（１８，１） 

            ＝（１０４―９，７２＋１３）＋（１８，１）＝（９５，８５）＋（１８，１） 

            ＝（１７１０―８５，１５３０＋９５）＝（１６２５，１６２５） 

            ＝（１，１） 
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（算出１４） （１，１）＝（3，1）＋（3，1）＋（８，1）＋（５７，1） 

         右辺＝（９―１，３＋３）＋（８，１）＋（５７，１） 

            ＝（８，６）＋（８，１）＋（５７，１） 

            ＝（６４―６，４８＋８）＋（５７，１）＝（５８，５６）＋（５７，１） 

            ＝（３３０６―５６，３１９２＋５８）＝（３２５０，３２５０） 

            ＝（１，１） 

（算出１５） （１，１）＝（３，１）＋（３，１）＋（９，１）＋（３２，１） 

右辺＝（９―１，３＋３）＋（９，１）＋（３２，１） 

            ＝（８，６）＋（９，１）＋（３２，１） 

            ＝（７２―６，５４＋８）＋（３２，１）＝（６６，６２）＋（３２，１） 

            ＝（２１１２―６２，１９８４＋６６）＝（２０５０，２０５０） 

            ＝（１，１） 

（算出１６） （１，１）＝（３，１）＋（３，１）＋（１２，１）＋（１７，１） 

右辺＝（９―１，３＋３）＋（１２，１）＋（１７，１） 

            ＝（８，６）＋（１２，１）＋（１７，１） 

            ＝（９６―６，７２＋８）＋（１７，１）＝（９０，８０）＋（１７，１） 

            ＝（１５３０―８０，１３６０＋９０）＝（１４５０，１４５０） 

            ＝（１，１） 

（算出１７） （１，１）＝（３，１）＋（4，1）＋（５，1）＋（４７，1） 

右辺＝（12―１，4＋３）＋（5，１）＋（4７，１） 

            ＝（11，7）＋（5，１）＋（4７，１） 

            ＝（55―7，35＋11）＋（4７，１）＝（48，46）＋（4７，１） 

            ＝（2256―46，2162＋48）＝（2210，221０） 

            ＝（１，１） 

（算出１８） （１，１）＝（3，1）＋（４，1）＋（７，1）＋（1３，1） 

右辺＝（12―１，4＋３）＋（7，１）＋（１3，１） 

            ＝（11，7）＋（7，１）＋（１3，１） 

            ＝（77―7，49＋11）＋（１3，１）＝（7０，6０）＋（１3，１） 

            ＝（91０―6０，780＋7０）＝（8５０，8５０） 

            ＝（１，１） 

（算出１９） （１，１）＝（３，１）＋（５，１）＋（７，１）＋（８，１） 

             右辺＝（15―１，5＋３）＋（7，１）＋（8，１） 

            ＝（14，8）＋（7，１）＋（8，１） 

            ＝（98―8，56＋14）＋（8，１）＝（９0，70）＋（8，１） 

            ＝（720―70，560+90）＝（650，6５０） 

                 ＝（１，１） 


